oz
(R,>>l|.) K
¢ S.ﬁv:l.=Fg
V )
} W ‘—mll:
I° TEA= 2
TAMAMNAS, gr=v-
velgr =R
¢I OF  Lke
€ ¢ ' g’
S+S,.= 20k
Ly
yt+ yt= 2R
ot + 2ot = 201
3ot =2Nn
: = 2D
6o 320
b = '6'—“— fec
1S
Ze e [Roze? |
~wt= yi_ = fo n _ 20
it t= T 5= E=Trd Check .
‘ﬂo\l?’
o)
= = =)
5,=S,+21R= S, =Urt = 40.3_’2 =
vt=Yt +20R = =
2ot = ot +214.= =[5 =20 [0y 7] f’"‘& R L,
‘ 20f—10f=2/)=; "'-—'-——--——_._,a(e" 2'”5320"41

ot =20 = S.=Ut=202 7
% S S -‘inﬁe'\{%s_»
t = __IeL 7S _ ) _
5 =S, = s | Nev? S‘.‘Z')Fel#—‘zgal_ﬂ

Lfote )




